GOLDBACH FINANCE

Nanostox

All stock postings (buys) on Reddit by Nanostox from February 2021 till December 2021.

The list shows the highest reached price of a stock, after we posted it on reddit. Some went down, before they went up. A lot of these stocks are now back to our buyingzone or even lower. So in the best case scenario, investing in these types of stocks, can be in the long-and/or short-term, very profitable. A few of them were bought, before reddit launch.

1300%

VISION LITHIUM

1300% | 14.00 X | 0.05 \$ to 0.7 \$ (2700% before reddit launch, bought @ 0.025 \$)

946%

PATRIOT BATTERY METALS 946% | 10.46 X | 0.43 C\$ to 4.50 C\$

740%

CRYPTOSTAR

740% | 8.40 X | 0.1 \$ to 0.84 \$ (950% before reddit launch, bought @ 0.08 \$)

700%

ARGENTINA LITHIUM

700% | 8.00 X | 0.12 C\$ to 0.96 C\$

566%

ROADMAN INVESTMENTS 566% | 6.66 X | 0.03 \$ to 0.2 \$

553%

BLENDER BITES

553% | 6.53 X | 0.52 C\$ to 3.40 C\$

440%

EDGEWATER WIRELESS SYSTEMS

440% | 5.40 X | 0.05 \$ to 0.27 \$ (575% before reddit launch, bought @ 0.04 \$

400%

TITANIUM CORP (now CVW CleanTech)

400% | 5.00 X | 0.4 C\$ to 2.0 C\$

369%

TAOPING

369% | 4.69 X | 3.6 \$ to 16.9 \$ (412% before reddit launch, bought @ 3.3 \$)

348%

CANCER GENETICS INC.

348% | 4.48 X | 3.9 \$ to 17.5 \$ (400% before reddit launch, bought @ 3.5 \$)

260%

PROSPERA ENERGY

260% | 3.60 X | 0.025 C\$ to 0.09 C\$

254%

ETHEREUM

254% | 3.54 X | 1380 \$ to 4888 \$ (bought @ 300 \$, 500 \$ before reddit launch)

ORBSAT

245% | 3.45 X | 4.30 \$ to 14.85 \$

235%

BRIACELL THERAPEUTICS

235% | 3.35 X | 4.7 C\$ to 15.76 C\$

230%

BIOCORRX

230% | 3.30 X | 2.45 \$ to 8.10 \$

221%

WATER WAYS TECHNOLOGIES INC.

221% | 3.21 X | 0.14 C\$ to 0.45 C\$

220%

MOOVLY

220% | 3.20 X | 0.25 \$ to 0.8 \$ (700% before reddit launch, bought @ 0.1 \$)

215%

SUPER LEAGUE GAMING

215% | 3.15 X | 3.55 \$ to 11.2 \$ (250% before reddit launch, bought @ 3.2 \$)

194%

COLOR STAR TECHNOLOGY

194% | 2.94 X | 0.9 \$ to 2.65 \$

172%

EYEFI GROUP TECHNOLOGIES

172% | 2.72 X | 0.55 C\$ to 1.50 C\$

173%

AMPD VENTURES

173% | 2.73 X | 0.19 C\$ to 0.52 C\$

160%

INTERNATIONAL LITHIUM

160% | 2.60 X | 0.05 \$ to 0.13 \$

160%

ANTELOPE ENTERPRISE

160% | 2.60 X | 2.95 \$ to 7.70 \$

160%

STRIA LITHIUM

160% | 2.60 X | 0.025 C\$ to 0.065 C\$

144%

SIGMA LABS

144% | 2.44 X | 4.0 \$ to 9.77 \$ (171% before reddit launch, bought @ 3.6 \$)

133%

ATARI S.A.

133% | 2.33 X | 0.45 \$ to 1.05 \$

RAPID NUTRITION 133% | 2.33 X | 0.15 \$ to 0.35 \$

120%

CURRENT WATER TECHNOLOGIES 120% | 2.20 X | 0.05 \$ to 0.11 \$

114%

SALARIUS PHARMACEUTICALS
114% | 2.14 X | 1.64 \$ to 3.51 \$ (190% before reddit launch, bought @ 1.21 \$)

113%

YUNHONG CTI

113% | 2.13 X | 2.3 \$ to 4.9 \$ (145% before reddit launch, bought @ 2.0 \$)

112%

BLOCKCHAIN FOUNDRY 112% | 2.12 X | 0.25 \$ to 0.53 \$

107%

PLAYGROUND VENTURES 107% | 2.07 X | 0.30 C\$ to 0.62 C\$

105%

GENSOURCE POTASH CORP 105 % | 2.05 X | 0.18 \$ to 0.37 \$

103%

BROADWAY FINANCIAL 2.10 \$ to 3.94 \$ 103% | 2.03 X | 2.10 \$ to 4.28 \$

102%

PIXIUM VISION 102% | 2.02 X | 1.21 \$ to 2.45 \$

102%

SPROUTLY CANADA 102% | 2.02 X | 0.045 \$ to 0.091 \$

100%

VITALITY PRODUCTS 100% | 2.00 X | 0.2 C\$ to 0.4 C\$

96%

AURIS MEDICAL HOLDING 96% | 1.96 X | 3.18 \$ to 6.24 \$

89%

KUUHUBB 89% | 1.89 X | 0.09 C\$ to 0.17 C\$

85%

BTCS INC. 85% | 1.85 X | 0.75 \$ to 1.39 \$

INTERPACE BIOSCIENCES

84% | 1.84 X | 5.70 \$ to 10.50 \$ (144% before reddit launch, bought @ 4.30 \$)

81%

PUREPOINT URANIUM

81% | 1.81 X | 0.11 C\$ to 0.20 C\$

80%

SONORO ENERGY

80% | 1.80 X | 0.05 C\$ to 0.09 C\$

81%

CHATHAM ROCK PHOSPHATE

81% | 1.81 X | 0.11 C\$ to 0.20 C\$

81%

BLUEBERRIES MEDICAL

81% | 1.81 X | 0.11 \$ to 0.20 \$

75%

SPoT Coffee

75% | 1.75 X | 0.028 \$ to 0.049 C\$

76%

ADHERIUM LTD.

76% | 1.76 X | 0.017 to 0.03 AUD

77%

PREDICTIVE ONCOLOGY

77% | 1.77 X | 1.3 \$ to 2.3 \$ (130% before reddit launch, bought @ 1.0 \$)

75%

INNOVATIVE PAYMENT SOLUTIONS

75% | 1.75 X | 0.12 \$ to 0.21 \$

75%

AFFINOR GROWERS

75% | 1.75 X | 0.04 \$ to 0.07 \$ (133% before reddit launch, bought @ 0.03 \$)

75%

MINBOS RESOURCES

75% | 1.75 X | 0.12 AUD to 0.21 AUD

72%

MPHASE TECHNOLOGIES

72% | 1.72 X | 0.25 \$ to 0.43 \$

72%

SYNAPTOGENIX

72% | 1.72 X | 8.05 \$ to 13.90 \$

70%

AMPLITECH GROUP

70% | 1.70 X | 8.10 \$ to 13.80 \$

BOARDWALKTECH SOFTWARE 67% | 1.67 X | 0.89 C\$ to 1.44 C\$

66%

AQUARIUS AI 66% | 1.66 X | 0.15 C\$ to 0.25 C\$

66%

ETHER CAPITAL 66% | 1.66 X | 3.0 \$ to 5.0

66%

SPECTRA7 MICROSYSTEMS INC. 66% | 1.66 X | 0.03 \$ to 0.05 \$

63%

DATABLE TECHNOLOGY CORP. 63% | 1.63 X | 0.10 C\$ to 0.16 C\$

61%

DIGIHOST TECHNOLOGY 61% | 1.61 X | 1.60 \$ to 2.58 \$

61%

SENESTECH 61% | 1.61 X | 2.0 \$ to 3.14 \$

58%

CANADIAN PREMIUM SAND INC. 58% | 1.58 X | 0.38 C\$ to 0.60 C\$

55%

PASCAL BIOSCIENCES 55% | 1.55 X | 0.09 C\$ to 0.14 C\$

55%

CHOOM HOLDINGS 55% | 1.55 X | 0.09 \$ to 0.14 \$

54%

PLURILOCK SECURITY 55% | 1.55 X | 0.43 \$ to 0.66 \$

53%

GLOBEX DATA

53% | 1.53 X | 0.296 \$ to 0.455 \$ (203% before reddit launch, bought @ 0.15 \$)

52%

LIBERTY DEFENSE HOLDINGS 52% | 1.52 X | 0.55 C\$ to 0.84 C\$

51%

EARTHRENEW

51% | 1.51 X | 0.35 \$ to 0.53 \$ (178% before reddit launch, bought @ 0.19 \$)

LINK GLOBAL TECHNOLOGIES 51% | 1.51 X | 0.9 \$ to 1.36 \$

50%

IBC ADVANCED ALLOYS 50% | 1.50 X | 0.20 C\$ to 0.30 C\$

48%

UAV CORP. 48% | 1.48 X | 0.27 \$ to 0.4 \$

46%

AION THERAPEUTIC INC. 46% | 1.46 X | 0.13 C\$ to 0.19 C\$

45%

VISLINK TECHNOLOGIES INC. 45% | 1.45 X | 3.66 \$ to 5.34 \$ (78% before reddit launch, bought @ 3.0 \$)

49%

BITCOIN

49% | 1.49 X | 45.500 \$ to 68.789 \$ (bought @ ~7000 \$, ~10000 \$)

40%

D-BOX TECHNOLOGIES INC. 40% | 1.40 X | 0.10 C\$ to 0.14 C\$

MINEWORX TECHNOLOGIES LTD. 0.03 C\$ to 0.10 C\$ (including a 1:2 split)

39%

LITHIUM SOUTH DEVELOPMENT CORP 39% | 1.39 X | 0.66 \$ to 0.92 \$

36%

BLUE SKY URANIUM CORP. 36% | 1.36 X | 0.19 \$ to 0.26 \$ (bought @ 0.14 \$, 85% before reddit launch)

36%

NEXERA ENERGY

36% | 1.36% | 0.11 C\$ to 0.15 C\$ (bought @ 0.08 C\$, 87% before reddit launch)

33%

WIKILEAF TECHNOLOGIES INC. 33% | 1.33 X | 0.06 C\$ to 0.08 C\$

33%

GENETIC TECHNOLOGIES 33% | 1.33 X | 4.86 \$ to 6.48 \$

30%

NEW AGE METALS INC 30% | 1.30 X | 0.13 \$ to 0.17 \$

GAMESQUARE ESPORTS 30% | 1.30 X | 0.46 C\$ to 0.6 C\$

33%

XS FINANCIAL INC. 33 % | 1.33 | 0.3 \$ to 0.4 \$

30%

PHIO PHARMACEUTICALS CORP. 30% | 1.30 X | 3.33 \$ to 4.35 \$

28%

KILLI LTD 28% | 1.28 X | 0.53 \$ to 0.68 \$

28%

SKYCHAIN TECHNOLOGIES INC. 28% | 1.28 X | 1.4 C\$ to 1.8 C\$

27%

DOMINION WATER RESERVES CORP. 27% | 1.27 X | 0.18 C\$ to 0.23 C\$

25%

LENDIFIED HOLDINGS INC. 25% | 1.25 X | 0.04 C\$ to 0.05 C\$

25%

1933 INDUSTRIES INC 25% | 1.25 X | 0.08 \$ to 0.10 \$

25%

ORGANIMAX NUTRIENT CORP. 25% | 1.25 X | 0.27 C\$ to 0.34 C\$

25%

VISIONSTATE CORP. 25% | 1.25 X | 0.08 \$ to 0.10 \$

25%

FINCANNA CAPITAL CORP 25% | 1.25 X | 0.08 \$ to 0.10 \$

25%

BALSAM TECHNOLOGIES CORP. 25% | 1.25 X | 0.52 C\$ to 0.65 C\$

23%

DIGICRYPTS BLOCKCHAIN SOLUTIONS INC 23% | 1.23 X | 0.26 \$ to 0.32 \$

21%

EARTH ALIVE CLEAN TECHNOLOGIES INC 21% | 1.21 X | 0.14 C\$ t o 0.175 C\$

BESPOKE EXTRACTS INC. 20% | 1.20 X | 0.05 \$ to 0.06 \$

20%

REWALK ROBOTICS LTD. 20% | 1.20 X | 2.9 to 3.5 \$

20%

MINGZHU LOGISTICS HOLDINGS LTD 20% | 1.20 X | 5.5 \$ to 6.6 \$

20%

FIVERR.com (8,2 B cap) 20% | 1.20 X | 279 \$ to 335 \$

19%

CREATIVE REALITIES INC. 19% | 1.19 X | 2.72 \$ vto 3.25 \$

18%

ISIGN MEDIA

18% | 1.18 X | 0.11 C\$ to 0.13 C\$ (bought @ 0.06 C\$, 116% before reddit launch)

18%

YDX Innovation 18% | 1.18 X | 0.165 C\$ to 0.20 C\$

17%

SIXTH WAVE INNOVATIONS INC. 17% | 1.17 X | 0.34 \$ to 0.4 \$

16%

REPLICEL LIFE SCIENCES INC. 16% | 1.16 X | 0.3 \$ to 0.35 \$

16%

BORQS TECHNOLOGIES INC. 16% | 1.16 X | 1.65 \$ to 1.93 \$

16%

MARIFIL MINES LTD. 16% | 1.16 X | 0.06 \$ to 0.069 \$

16%

RECRUITER.COM GROUP INC. 16% | 1.16 X | 4.88 to 5.67 \$

15%

TRACKX HOLDINGS INC 15% | 1.15 X | 0.095 C\$ to 0.125 C\$

15%

ARHT MEDIA INC 15% | 1.15 X | 0.29 C\$ to 0.33 C\$

ION ENERGY LTD 15% | 1.15 X | 0.45 C\$ to 0.52 C\$

14%

GLOBUS MARITIME 14% | 1.14 X | 5.15 \$ to 5.85 \$

13%

NOXXON PHARMA NV 13% | 1.13 X | 0.46 EUR to 0.52 EUR

11%

HILL STREET BEVERAGE COMPANY 11% | 1.11 X | 0.085 to 0.095 C\$

11%

ARCH THERAPEUTICS INC 11% | 1.11 X | 0.17 \$ to 0.19 \$

11%

AIKIDO PHARMA INC. 11% | 1.11 X | 1.26 \$ to 1.41 \$

10%

ION GEOPHYSICAL CORP 10% | 1.10 X | 3.3 \$ to 3.64 \$

10%

HANCOCK JAFFE LABORATORIES INC. 10% | 1.10 X | 7.68 \$ to 8.44 \$

10%

HARVEST ONE CANNABIS INC 10% | 1.10 X | 0.1 \$ to 0.11 \$

10%

PYXIS TANKERS INC. 10% | 1.10 X | 0.93 \$ to 1.03 \$

8%

BHANG INC. 8% | 1.08 X | 0.12 \$ to 0.13 \$

8%

BUNKER HILL MINING 8% | 1.08 X | 0.36 \$ to 0.39 \$

5%

NEXLIVING COMMUNITIES INC. 5% | 1.05 X | 0.19 to 0.20 C\$

5%

MARTELLO TECHNOLOGIES GROUP INC 5% | 1.05 X | 0.19 C\$ to 0.20 C\$

Stocks with no noticable gains after a few days or weeks, but they still can go up:

ENERDYNAMIC HYBRID

no changes - halted

MOBI724 GLOBAL SOLUTIONS INC.

no changes

NMCN PLC

no changes - halted

CANBUD DISTRIBUTION CORP.

0.2 C\$ to 0.2 C\$

TRANSPHORM INC.

8.20 \$ to 8.40 \$

Stocks which went directly down after we picked them up, with a recovery:

ASTROTECH CORP.

1.42 \$ to 1.0 \$ recovered to 1.41 \$

ONE WORLD LITHIUM INC.

0.14 C\$ to 0.10 C\$ recovered to 0.14 C\$

BOQI INTERNATIONAL MEDICAL INC

1.8 \$ to 1.3 \$ recovered to 1.8 \$

SATIVA WELLNESS GROUP INC.

0.08 \$ to 0.05 \$ recovered to 0.08 \$

Stocks which went directly down after we picked them up, without a recovery:

-36%

CHF SOLUTIONS INC

6.0 \$ to 3.8 \$

-43%

LITE ACCESS TECHNOLOGIES INC.

0.3 C\$ to 0.17 C\$

-46%

AVIVAGEN INC.

0.69 C\$ to 0.37 C\$

-60%

REAL LUCK GROUP LTD.

0.75 \$ to 0.3 \$

-64%

IONIC BRANDS CORP

0.28 C\$ to 0.10 C\$

All stocks with small gains can also still go up. Nobody knows. Even those which went down directly, without a recovery.

Not posted stock picks in January 2021, before reddit launch:

1166 %

GLOBAL BATTERY METALS 1166 % | 12.66 X | 0.15 C\$ to 1.9 C\$

372%

FLUROTECH 372% | 4.72 X | 0.18 C\$ to 0.85 C\$

233%

THERMA BRIGHT 233% | 3.33 X | 0.3 C\$ to 1.0 C\$

(This stock list was created by our best effort, but it still can contain errors. So we don't give any guarantee, that it is 100% accurate.)

CONTACT:

GOLDBACH FINANCE NANOSTOX CEO DOMINIK GOLDBACH STETTENER HAUPTSTRASSE 105 70771 LEINFELDEN-ECHTERDINGEN GERMANY

Tel: +49 (0) 711 - 3 911 446 3 Mail: info@Nanostox.de